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WA 40.2 s 26.2 1,620 864 648 10[ FYa LL
IZACA 23.0 5 & 7.9 - 2,376 — 10 vay L
ZIES5 5.7 BERE 5.6 — 2,268 — 10 L
[E<E0y 21.8 E % 21.6 1,296 - 1,242 15 A L
HTE 1.9 BERE 1.2 1,944 1,512 1512 4f A M
—EOH 7.0 ERE 4.2 1512 1,458 1,404 4f A M
FrRY 72.9 B E 65.0 1,415 1,415 1,080 10 Va9 8
IE5NAZES 1.1 N 0.1 4,860 — 4,590 5] vay M
hE 5.2 X & 3.9 1,404 810 702 3l vay LL
_hE 1.9 ik B 1.2 1,944 1,836 1512 3 L
_hE 2 [ 0.5 3,564 2,592 2,268 3l A S
125 2.0 =0 0.9 4,320 4,050 3,780 5] vay
L) — 0.5 E % 0.5 — 4,860 — 10 A L
FRINTGHR 25 = B 0.3 108 — 81 0.1 L
LAR 47.3 E % 47.2 1,620 1512 1,458 10 A 16
FoTHA 0.9 BRE 0.6 1,944 1,512 1512 4f A L
=Y 24.0 B K 145 - 1,836 — 5] vay L
=p5Y ElG 8.9 1,512 1512 1,296 51 B M
ANESSES) 2.9 BRE 0.4 — 2376 — 10 6
Al 7.7 N 3.8 — 1,944 — 4 vay 3L
Y =I5 2.4 2,376 2,160 1,836 5] A L
k2 28.9 X & 14.1 1,188 756 756 4 B 16
TS EES 9.2 1,944 1512 1,404 4 vay M
S 114 EES 5.1 205 173 162 02| vay M
F—<> 6.0 X 7 15 93 — 86 0.15 A M
E53ACL 1.5 X & 1.4 2,419 1,210 691 5] vay
x93 1.4 BRE 1.4 81 — 70 008 A M
IZH5Y 5.3 BRE 5.3 1,555 864 864 3l A L
SPVAITFA E % 4,860 - 3,996 2
MrAL& 5.2 BRE 2.7 1512 1,188 756 5/ A
IEhLs 17.6 £ B 12.1 - 648 - 10
=& 0.2 =l 0.1 810 756 702 1 A
f=Fh&E 44.2 = B 441 2,808 - 2,700 20 va9 L
ELLVE=T 1.2 BRE 0.1 108 - 54 0.1 Vi
ELLV=IT E 5 0.4 - 173 - 0.25| M M
ZDEET 3.4 £ B 2.4 32 24 24 0.1 A
LHL 2.1 2 [ 2.1 97 65 65 0.2
LS EA S 4204
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o fm B & E th = E hfE =7 & £ B
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BMAMAET 5.0
INGRH DA 5.0 BRE 1.2 - - - PR L
INDRFH A BRE 3,186 — 2916 241 A M
INGRFHPNA BERE 3,186 — 2916 241 A S
LEY 1.3 F Y 0.5 - 6,480 — 17 115
INLUYT 1.1 = I 1.1 7,560 7,128 7,020 17 72
L7 2)1LY 0.4 m7r7Y 0.4 4,752 — 4,320 15 45
YATE 6.4
PErE=IY 1.9 5 & 1.9 6,696 5,832 5,724 10
AL 3.1 5 & 3.1 7,560 — 6,588 10 vay 36
3HET 1.0
3% 1.0 & % 0.3 — 5,400 — 5] vay 13
FTHHE
ERGS X & - 1,728 — 1.6] vay 3L
B35
SESE 4.7
To9x7F 0.5 =l 0.2 - — — PR LL
F5917F =I5 - 3,024 — 16 A L
To9x7F =l - - - PR M
Big 1.9 2 15 2,506 2,506 1,728 120 A 3L
EA—=* 0.3 f2 [ 0.1 2,592 — 2,506 1.4 B 4L
[AX-Ye BRE - - - PR
(A% =Y TAH 724 — 702 0.28
AOVEF 7.0
7—ILR 3.7 EES 3.6 - 2,160 — 4l 7hva 4L
ZFDAOY 3.2 BERE 0.5 — 1,296 — 4 D 5L
ERRYOY1s 24.8
ERRY 224 BRE 14.3 972 864 756 6] A M
CEETLVH 25 BRE 25 2,592 2376 2376 0] A 3L
INFF 11.8 EYEY 11.6 4536 2,808 2,592 15
NAFyFTIL 4.1 EYEY 3.2 3,672 — 3,132 10 8
FoA4T)LY 1.7 —T 1.7 6,156 — 4,050 75 4
BERE 81.8




